fmmm AT B S AN EX

BE: B2, BBRE: (EA:7.13E)WG1, 1Zi&: P002-1[D:260,5:1934], BK: (fEAEE%) 1286.88 cm #RE: 50 cm

R 65cm L. EERE

BRIEBRE: D:260,5:1934, ZERFHI=>[WG1], XZBRXF: 1

#8 L XA (BER)-FE 148

(B4R, L, A E]=(1286.879+[# #]226*2+[ £ $H E]95+35.6+[F #H E]-10+35.6)*5)/100=94.75

#8 T XA (BER)-FE 148

[ BR, E$H 72, B SH T2 ]=(1286.879+[#4 $2]174*2+[ EE $H 7E]-10+35.6+[ A §# 7E]-10+35.6)*5)/100=80.85
#4 FEFH(BBIE)E)= (1286.879+[#15#]93*2+[ /£ 3 #R]105/2+[ £ ¥ #R]0/2)*[ %] 2*[# #1]2/100=61.02

#8 L EM(MBR L EBA )-8 148:

(B8R 8 E, A 5 E]=(1286.879+[#41%]226*2+[ & # E]95+35.6+[ A i E]-10+35.6)*0/100=0.00
#8 LB RN (FE14H)= (1286.879-321.72-321.72+[#54£]226%1)*0/100= 0.00
#8 EEESNH NS (5 140)-E#B= (321.7+[% $#E]95+35.6)*0/100= 0.00
#8 EEAN RN (5 148)-BBR= (321.7+[$4E]-10+35.6)*0/100= 0.00

#3T EF(BRT EBATR)-F148:

[ AR, 20 88 2, 4 8 2= (1286.87 9+ [#4 1211742+ [ £2 $# 7£]195+35.6 4 $ E]-10+35.6)*0/100=0.00
#8 T SR8 (E148)= (1286.879-321.72-321.72+[#£42]174%1)*0/100= 0.00
#8 T B SN D088 (55 14R)- B 2= (321.7+[$8E]95+35.6)*0/100= 0.00
#8 T B AN I8 (55148)-RR= (321.7+[$47E](-10+35.6))*0/100= 0.00
#4 FBEF (MR EDEMEA )= (1286.879+105/2+0/2+[#£4£]71*2)*0*[#81]2/100= 0.00

#4 L HE = 225.78*22*1*/100= 49.67
#4 HHE = 225.78%[Int(1286.88/2/15))]*1*/100= 94.83
#4 H¥E = 225.78*[(Int(1286.88/4/15+1)]*1*/100= 49.67

#5 [THESHBE X R (—BRR)]= [[EE]50+[M fIZE{H]15*2= 80.00 cm
AR TEHBAR(—ER) = (80.00%Int(1286.879/150)/100= 6.40 M

R BB S EZ T ik TES) RATHE 2 MR RE U IEANBEI0cmAF EEE RRE s EELERRES THRA
HEREFMEA MM@EHGEnNEER)+EHNRE-(EN)12@HEnER-FAERBEETELY)

BIRGTE: (BT EERE)

TR (BRAIE)- 1t BR- B BRIE-H1 £ TIRE(B 15 1E)= 1286.88*2*(65-18)/10000= 12.10 M2

1E R (BRI AE)-##2)= 0.00 M2
AR/ EH(REIRE):12.10 M2
HERR N (BRIKE):0.00 M2
RCE T E:
RC(its T #2)= 50*65*1286.88/1000000= 4.182 M3
-------------- e F =1 )y —
WA EER:
#4=255.187 M (255.187 M*0.994/1000= 0.2537 T)
#5=6.400 M (6.400 M*1.560/1000= 0.0100 T)
#8=175.601 M (175.601 M*3.980/1000= 0.6989 T)
A/ NET =0.9625T
HERRDEH(BRA+ERIEK) = 12.10 M2
B/ E=4.182M3
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